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QUESTION 1

Upon connecting a VMware Managed Transit Gateway (VTGW), the administrator discovers that there is an overlapping
workload CIDR bleck. How will the software-defined data center (SDDC) handle the overlapping IP space?

A. It will reject the remote IP space.

B. It will isolate the overlapping segment in the cloud.

C. It will allow the overlapping IP space.

D. It will ensure both CIDR blocks work in both locations.

Correct Answer: C

QUESTION 2

A customer wants to ensure that VMware Cloud on AWS maintenance operations are performed during their
maintenance window. Which option would allow the customer to achieve this outcome?

A. Schedule a maintenance preference in the software-defined data center (SDDC) console.
B. Schedule a call with VMware Cloud on AWS Support and schedule a maintenance window.
C. Schedule a call with AWS Support and schedule a maintenance window.

D. Schedule a maintenance window through an online support request.

Correct Answer: A

QUESTION 3

An administrator is reducing a five-node cluster down to four. What happens to all virtual machines (VMs) when a host is
removed from a cluster?

A. All VMs on the host being removed are deleted.
B. All VMs are powered off.

C. All VMs are migrated from the host.

D. All VMs are unregistered from VMware vCenter.

Correct Answer: C

QUESTION 4

To assist with seasonal workload demands over the next two months, a group of interns are hired to assist with day 2
virtual machine operations in VMware Cloud on AWS. Which method should be used for creating these temporary user
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accounts and assigning the appropriate permissions to them?

A. Log into vCenter in VMware Cloud on AWS with the CloudAdmin account. Create the required number of user
accounts in the vmc.local SSO domain and assign the appropriate roles to the accounts.

B. Log into on-premises VMware vCenter. Create the required number of user accounts in the vsphere. local SSO
domain and assign the appropriate roles to the accounts. Ensure that Hybrid Linked Mode is enabled to allow account
propagation to the VMware Cloud on AWS SSO domain.

C. Create the required user accounts within Active Directory and assign them to the required group. With Hybrid Linked
Mode enabled, assign the correct role in VMware Cloud on AWS to the Active Directory group that contains the user
accounts.

D. Log into vCenter in VMware Cloud on AWS with the CloudAdmin account. Create the required number of user
accounts in the vsphere. local SSO domain and assign the appropriate roles to the accounts in Active Directory.

Correct Answer: B

QUESTION 5

An administrator is looking to establish a hybrid connection between on-premises and VMware Cloud on AWS software-
defined data center (SDDC) environments in order to migrate virtual machines. The on-premises environment is NOT
using NSX today; however, the administrator wants to avoid having to change IP addresses after each migration, and
there are some applications that require the same broadcast domain. Which connection is needed to meet these
requirements?

A. Policy-based VPN

B. Layer 2 VPN (L2VPN)

C. AWS Direct Connect

D. Route-based VPN

Correct Answer: D
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